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HES
3 s #HA
Sl =XHY A CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o s&Xt 2,000,000& =3CH 6,000
o St Xt 3,000,000& =4 CH 12,000
OCCTV X2 500,000& *3JH 2~ 1,500
203 ¥R =&XH| 4,500 4,500 0
03 AIHZ=XIH R F=XY| 4,500 4,500 0
OLHHIAIR AIBF=ZX 4,500,000 4,500
206 M = Hl 12,500 12,500 0
01 = bl 12,500 12,500 0
OO0lE OHAFRI AFE = 5,000,000& 5,000
OFOole NESAMES ME 10,0008 %150 1,500
OHI=J1 #2¢ 5,000,000& 5,000
OE=27 &=t #¢ 1,000,000& 1,000
301 dEtE X = 239,560 187,760 51,800
0BCESH-0/& - -EtEEs8A3 231,510 179,710 51,800
Oool&s4 300,000&x37H x12& 133,200
Ool&ANZ2 300, 000& *37H 23| 22,200
O3l &AxG 20,000 *37H x23[ x12& 17,760
SNER0 s 100,000 *37H = 12& 44,400
Ogt& e =t 50,000& *2794H 13,950
09 HALAHI X &2 8,050 8,050 0
OO0IE DIAIKIRE AHI AR S AH 24
5,000& *300H 1,500
O&FOStE NLESAES AHIEA
5,000& x1504H 750
O=tH 2 HQl &ILAE & 8,000& x40H x53] 1,600
O&t=0let 2H el &IOS & 8,000& 1504 1,200
O2F #HAIFEX EFIHA Aldl24 3,000,000 3,000
= AIJHRI 22| 339, 188 307,544 31,644
101 @121l 306,428 276,784 29,644
04 J|I2ZtHZ2E2XNEE S 306,428 276,784 29,644
OL&dAX=Z, SgZ N2 UH02Y 56,369
o JlE=2 68,7203 x2H »249! 34,223
o f2§8¢ 68,720 x2Y 523 7,147
o AXFm=F/It 68,7203 x2H x 15 2,062
o 5 68,7203 x2H*x252 x1 .5 5,154
o El&Z 68,720& »2H x30 1. 54 6,185
o Il=Hl 100, 000& *2H x23| 400
0 MR A H| 34,223,000& *3.5% 1,198
Oz A0 22 21,186
oJlE=a 68,7203 1P x 167 11,477
o 728d 68,720 x1H *35F 2,406




2N AES
B {88 ¥y
?? SNEE A (&)
SA - BB B () - MM - BES Ol &t o San HmEET
o AXtR=EFIH 68,720& x1H » 152 1,031
o ZFg=¢ 68,7203« 1H+25&+1.5 2,577
o El&3 68,7203 x1H «30 1.5 3,093
o =l 100,000 »1H »23] 200
o RIS 4 HI 11,477,000& *3.5% 402
OAIJHAl &&0ls 12 56,104
oJlEa 68,7203 x2H x251 34,498
o F=5¢g 68,7203 x2H 52 7,147
o AXtR= Rt 68,7203 x2H 11 1,512
(e -] 68,720 x2H x252 1.5 5,154
o &&= 68,7203 x2EH «30 1.5 6,185
o II=Hl 100,000 »2H 23] 400
o MRl 34,498,000& *3.5% 1,208
OEXlser & &2 &yl o2
68,7203 x 15«75 77,310
OMs3Iazael =g 68,720 x1H 180 12,370
OZs4, 22 & AIIXSZ2e 92
68,7203 x6H 90! 37,109
OJt27] Zel(2& ¢ #H) e
68,7203 x5% »203] 6,872
O gaeld AzEae o8y
68,720 x10H «15& 10,308
OSEAEE JI22E AHEE=
28,800,000& 28,800
201 LBH2I | 12,860 12,860 0
01 At 22l 5,660 5,660 0
ogxtz 660
o AMA=sOHMEI = ¥ 2T X
220,000& x33] 660
OFASAL E0H0IE 29 5,000
o EE=SHMZH 100& *10,000& »23| 2,000
o BAMNME 2,000& = 1,0000H 2,000
o g8y s 2= +Hl 1,000,000& 1,000
02 =224l 7,200 7,200 0
OAIJIHXl 23U &ot=E AER
150,000 44 2+ 123 7,200
206 T2 HI 19,900 17,900 2,000
01 =8l 19,900 17,900 2,000
OAIDJHRl Jt2 2122 6,000
o Jt2J N 7 & 2=+
20,000 » 15004 2 3,000
o Jt2J AN ¥ JI +& 15,000& 2004 3,000
OE2A0Es [T 200,000& »12& 2,400




2 HES
HE: HES B
Sl =XHY A CEEEED
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFEAZIPIIANMRE (B2 Y
2,000,000 =14l 2,000
OAIIKzE & stexd 232
3,5002 *1,000Z J| *23] 7,000
Ostetxd 8532¢ 150,000 x 10 1,500
OZ2d & AJIX BAEE 1,000,000 1,000
FOIXXMEH 29 42,500 41,500 1,000
201 et 13,500 13,500 0
01 A2t 2| bl 13,500 13,500 0
OFQXXHEH 294 10,000,000 10,000
O=CXXPZ go&ALC
70,000& x25H 23| 3,500
206 M = Hl 4,000 3,000 1,000
01 X2 H| 4,000 3,000 1,000
O HS et NAY AE 2
2,000,000& 2,000
OF0ANH AL ¥ 2ATE2H| 2,000,000& 2,000
301 et M= 25,000 25,000 0
09 #HAIAHIXI& 2 2,000 2,000 0
OFQXXNEH T2 EHOLA 24
2,000,000& 2,000
12 JIEtE2 A= 23,000 23,000 0]
OFXXNHEH 2AFEE 23,000,000 23,000
s=8 AgtdE 22| 2,300 2,300 0
201 gBt2Ay| 2,300 2,300 0
01 AP 2t 2| H| 1,300 1,300 0
OsZEE 43l 22 23 7¢
100, 000& 1300 & 1,300
02 24| 1,000 1,000 0
OsZ&8 A58 A72 HH|
100, 000& * 100 & 1,000
AR SHIMA 1,600,000 1,200,000 400,000
401 Al HI L 2 0HHI 1,600,000 1,200,000 400,000
01 Al&H| 1,589,920 1,191,990 397,930
OALFR FOIHHAAY 695,590
0 HESsE &€ =222 0tAZ2 ZHEHZEA
10,000,000& 10,000
0 SWOIEY P B2 OIARTIFZA
15,000,000 15,000
o 2H0OIS ot AHH|Z At 50,000,000 50,000
0BE U ME DISOY HHSMBA
20,000,000 20,000




2N AES
HE: HES B
Sl =XHY A (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o @2XM=X HIE &AX3A 40,000,000 40,000
o 3% o¢d ¥ S22 XIS AL 20,000,000& 20,000
o REYE Hldlz s2EE3 AL 30,000,000 30,000
OOIHIE DHSUY NE ZHIA
25,000,000& 25,000
0 8Y=E 2 SHEIYIA 75,590,000 75,590
0 2tEE =2 FH A 50,000,000& 50,000
o SHAE MYsZ ZHEISAM 30,000,000& 30,000
oHiEXE 52 It
2 XIS A 10,000, 000& 10,000
o et Md==Xl th==2 EHHIZA 40,000,000& 40,000
oANS BSHE HHISA 60,000,000& 60,000
0 2020 AtS HE=d FHHISA
50,000,000& 50,000
o BAUHM MYsE EZTA 60,000,0008 60,000
o RAUNE 2B OtAR EEIA
30,000, 000& 30,000
o Lol MFEEX Z&ES A 40,000,000 40,000
oAl =2 OtAE ZE S AL 10,000,000& 10,000
olbtsetd AZBE =2 FHHIE A 30,000,000& 30,000
OH=XS HE ALY 894,330
o0 810l dgz ¥ HE=S s 23
At 94,330,000 94,330
0= TS =2 FUISM 60,000,000& 60,000
0 =8 I SNE Y2 EX3A
30,000, 000& 30,000
053 X¢E =2 FHl ¥ OtAZBEE A
50,000, 000& 50,000
o0 2=s0t2 S M&E FHISA(IXF)
100,000, 000& 100,000
0 2=s0t2 S M&E FHISAH2XF)
100,000, 000& 100,000
o % Lols == FHISA
50,000,000& 50,000
0 2020 ZOHMHE == ZHIZA
100,000, 000& 100,000
0S¢t =2 OtAZEEIA 30,000,000& 30,000
0 2020 2EA M HHISA
100,000, 000& 100,000
o Ot = Ot=&H &3 A 30,000,000& 30,000
o Z2Y FUHAIE FHISA 20,000,000& 20,000
0 AZE ME =21 EXSA
40,000,000& 40,000
o Al =2 OtAE ZZE S AL 30,000,000& 30,000
o 2X AUHE B2 EXSAM
30,000,000& 30,000




o MR XF+F KXl

500,000& =82l

4,000

HH .ol (3AH) - NSAY - By il 2
o0t o2 =0 FUISAM 30,000, 000& 30,000
03 A& =2 THHI 10,080 8,010 2,070
OLna2 FLUEHAALY 700,000, 000& *0.63% 4,410
OHZFEXNY HEAY 900,000,000& *0.63% 5,670
o BI(HES) 318,793 304,725 14,068
318,793 304,725 14,068
]l 318,793 304,725 14,068
2Bt A | 212,593 196,375 16,218
At 2t el i 118,700 116, 140 2,560
O e8| 45,782,000& 45,782
ozg=¢ 17,880
o g g (LA) 60,0002 115 6,900
o gL (=7) 30,000& 366 10,980
oS3l 36,206
o BEHIET A 33,206, 0002 33,206
o422 U MUY 22X AL
3,000,000& 3,000
o1l =l 6,000
o MM 2RH(otS) 100,000& »20H 2,000
AN 2R=E(s58) 200,000& x20H 4,000
OFANZL =25 12,832
o BANEIICHEE A 350,000& 122 4,200
o ATHMHA 440,000 »23| 880
SAIEE+==+2 146,000 123 1,752
o =D ¥ Hlll X2
500,000& x12& 6,000
zz29H| 93,893 80,235 13,658
OZ223 2 MA 74,793
0O EHA Y BN PABHAAY
500,000& »12& 6,000
o SEHAHUIFN SEHZ 400&*41,120H 16,448
o flgANE SXNAH SISH
1,950& =3, 5000H 6,825
o EMEIIRS 40,000,000& 40,000
o EA otz 150,000& =122 1,800
o TV=dlZ= 10,0002 60123 720
o Azt 3,000,000& 3,000
OA& &8l R Xldl 19,100
o AL Xl 2tel (2,269 ) 3,000,000& 3,000
o JIEtAIZ ZHI R X HI 4,000,000& 4,000
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n0

Kio

Hl w

100

40

H3r
Wikd
RIS

91,200
91,200

14,900

7,900

1,600

Off &t 24

2,000
3,000
3,000

100
91,200
91,200
85,200

6,000

15,000
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1,640
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2l *6CH

4+ 1500 A&
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200,000
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)
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0
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202 o4 Hl
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oD
Ko
0/

|

=

=

85,200,000
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A & 0l & A &2 F Al
2020 & =04 LBHSIH HES ~ H=EH
SA FHU
g a4 A
Sl =SXHY A CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
FaH 781,680 494,085 287,595
a0 AHF 661,343 383,882 277,461
SXHEy A 661,343 383,882 277,461
IASHHE RS 132,583 105, 122 27,461
101 @14 dl 3,814 3,833 A19
4 D12t ZE2XREES 3,814 3,833 A19
OdaNs 32 68,7203 x 1«50 3,436
Oo=8a3z 3,436,000& *9%*50% 155
OAdLEE 3,436,000& *6.67%*50% 115
OLQEIQRUEE 115,000& *9.5%*50% 6
OLEEHE 3,436,000% *1.65% 57
O MHEE 3,436,000& x1.3% 45
201 Yet2 | 18,529 16,249 2,280
01 At 2t 2l 2,310 0 2,310
OXlcte =ZZA ==2(HS8)
1374 2~ +150,000& 1,950
OJANT IHEZM =2 30,0002 x12& 360
02 2324l 16,219 16,249 A 30
Oz22= & HA 4,219
o AsXBA==2 69
— 283 E X 23,0003 = 1CH 23
— =S = YA Xt 23,0002 = 1CH 23
— &I Xt 23,0003 = 1CH 23
o XtSXHAl 150
A=l R =P} 30,000 *2CH 60
— &I Xt 90,000 = 1CH 90
o MIHEHEZE 1,600
—s=, YH I 500,000& *2H 1,000
— MO X 600,000 = 1CH 600
o dIIR3 2,400
—SlEHME3E, AU &2
150,000& =128 1,800
—&IIX HIIes3 50,000& x12& 600
O Xttt 12,000
o A832X 6,000,000 = 1CH 6,000
o Ct=H XXt 4,000,000& = 1CH 4,000
o &I Xt 2,000,000 = 1CH 2,000
203 Y2 X Y| 2,000 2,000 0
03 AIMFAH R =AY 2,000 2,000 0
OLHAZIAR AHMFZ 2,000,000& 2,000




SA FHU
M. FAH MY
Sl SXWY A CERED
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
301 dEtE2XZ 108,240 83,040 25,200
0BCSHE -0 -EHEESEMN= 107,440 82,240 25,200
Ool&+¢ 105,840
oJlEasx4¢ 300,000& x18H x12& 64,800
o &3 300,000& *18H 23| 10,800
o 3oFALELY 20,000 *18H x23| x12& 8,640
o EXER0IEESsSs+H 100,000& x18H = 12& 21,600
Ot A= 50,000& *324H 1,600
09 SHALAHIXI &2 800 800 0
O&t=S0le 2HH el &ItE & 8,000& x100H 800
FOUNXMEH 29 25,560 25,560 0
201 Bt A | 10,560 10,560 0
01 AP 2t 2l Yl 10,560 10,560 0
OFUXXHEH 29 600,000& = 12& 7,200
OFUXNXAAZ &Y 70,0003 x24H x23] 3,360
301 dBEtEX = 15,000 15,000 0
09 SHALAHIXI &= 1,000 1,000 0
OFQXXAH &S &I A& 1,000,000 1,000
12 JIEtE &2 14,000 14,000 0
OFUXXHEH ZAIE 14,000,000& 14,000
SEY A5 22 3,200 3,200 0
201 LEt2 A Y| 3,200 3,200 0
02 332494l 3,200 3,200 0
Os&Ed 43d &bl 100, 000& *32H 2~ 3,200
A2 SHMA 500,000 250,000 250,000
401 Al HI L 20 HI 500,000 250,000 250,000
01 A& HI 496,400 248,200 248,200
OARAZ2 FOHAAY 496,400
o SEW Otel&HINE MAE FI
10,000, 000& 10,000
o B8 JIE 82 Y| 10,000,000& 10,000
o ¥4 £&H =2 &bl 30,000,000& 30,000
0o EXI =2 otA2 ZLE 20,000,000& 20,000
o Y&l HE B2 HY| 30,000,000& 30,000
o duils MYEZ OtAE2 X
10,000, 000& 10,000
0 LES0IS ¢4 =28 MWEE
30,000,000& 30,000
o 20U0tS &= 242 U
30,000,000& 30,000
o ES0S &= E+2 FH| 30,000,000 30,000
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N = 0l & At & M A

20208 &= =0lat LB HES ~ =Y

SN S
Hu: 2o #H
Sl =XHY A (sl &2)
SA - BB B () - MM - BES Ol &t o San HmEET
SLH 869,045 540,304 328,741
S2H A#F 751,157 427,390 323,767
SXHEy A 751,157 427,390 323,767
IASHHE RS 218,917 148,150 70,767
101 @14 dl 35,608 3,474 32,134
4 D12t ZE2XREES 35,608 3,474 32,134
OssE EHI 22
68,7203 x20H 2 23| 5,498
O=Xz3al& 22 68,7203 x 1 52 3,574
OHE A 22| 26,536
oJdlzg 68,7203 x 1 251 17,249
=g 68,7203 x 1 «x52=F 3,574
o RSt 68,7203 x1&H 15 1,031
o &&= 68,7202 «1H »30 3652 /365 2,062
o RQAZ JI2ARLZ3 23,916,000% *4.5% 1,077
o ALEE JI2ARE=S 23,916,000 +3.34% 799
o LOEIQAEE J2ARES
799,000& *9.5%*50% 38
o 1EEE JI&ZRYZ  23,916,000& *1.65% 395
o MMHEE JI2ARES 23,916,000& x1.3% 311
201 €82l 27,589 24,506 3,083
01 At 22l 3,060 0 3,060
OXot =&HZBA =2 300,000& 9K & 2,700
OfIga MBIIE )| 42
30,0003 101201 & 360
02 2324l 24,529 24,506 23
Oz3&22= & HA 9,529
o NSX HIIZEAM =2 23,0003 +3CH 69
o XS XA 160
— =X, LM 30,0003 »2CH 60
— SN (AMA) 100,000 * 1CH 100
o AHEEZ 2,100
—StSX, LM 700,000 »2CH 1,400
U E=PAE=PN; 100, 0002 = 1CH 100
— SXXS(AI) 600,000 = 1CH 600
o I3 7,200
— =X ¥ IZ2S 400,000& x12& 4,800
— C=23tdy 200,000 128 2,400
O Xt 9,000
o A8 2t 4,000,000 = 1CH 4,000
o =2 XYM 3,000,000 = 1CH 3,000




SN S
Hu: 2o #H
Sl SXWY A CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o EXXE(AIA) 2,000,000& = 1CH 2,000
OH ZHl 3,000
o EXg& A=t 300,000& x5& 1,500
o CtEsta & H =l 300,000 x5& 1,500
OAI& &Hl RXHl 3,000
o EXg & 2,000,000& x1= 2,000
o LtEsta & 1,000,000& x1= 1,000
203 ¥R =&H| 2,000 2,000 0
03 A F=XHR=XH| 2,000 2,000 0
OLNHHLR AIMFZ 2,000,000& 2,000
301 dEtE X = 143,720 110, 170 33,550
0BCESH-0/& - -BtEEEsS8AZ 142,920 109,370 33,550
Oool&s4 112,320
oJdlEgsd 300,000 x24H x12& 86,400
o &A= 300, 0003 x24H *23| 14,400
o 3oFALLL 20,0003 *24H x23| x 12& 11,520
OgH& e =t 50,000& *364H 1,800
OE2XE==20 g4+ 100,000 x24H x12& 28,800
09 HALAHI X &= 800 800 0
O«t2 02 ZH O EFItE A 8,000& x100H 800
405 XtabF SHI 10,000 8,000 2,000
01 AL 2B F SHI 10,000 8,000 2,000
OFQXXIME &I PA(SAR, ZHA)
10,000,000& 10,000
FOUTXAMYH 2 28,840 25,840 3,000
201 2yt 2 Y| 13,840 10,840 3,000
01 AFR2t2ldl 13,840 10,840 3,000
OFUXXHEH 24 600,000& x12& 7,200
OFUXNXAAZ EAH+Y 70,0008 x26H «23| 3,640
OF01=&3 M= 3,000,000 3,000
301 dBEtE X = 15,000 15,000 0
09 HALAHI X3 2 1,000 1,000 0
OF0XXAHAE T2 =IOLA B4t
1,000,000& 1,000
JIEIE &3 14,000
OFQ XX AEH 14,000,000& 14,000
3,400
3,400
3,400
100, 000& *34 M 2 3,400
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Hu: 2o #H
el SXNdEE A4 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
22 SZofd 500,000 250,000 250,000
401 Al I 2 O8I 500,000 250,000 250,000
01 A& Bl 496,400 248,200 248,200
OL72 FUHAALY 496,400
033 22 0tAZ2 ¥ SEZEEIA
35,000, 000& 35,000
0d= s ¥ NE &8I SA
30,000, 000& 30,000
o JMatolE LR (KA &) M=22 FHSAM
35,000, 000& 35,000
oFEMN &Y OtAZ L ANNBs2 EF
= A 30,000, 000& 30,000
o7& MYZ SHIELIIA 30,000,000& 30,000
oLd A OtA2 L 25 =2 ZESAM
40,000,000& 40,000
0R¥E =8 & 022 MEEISA
25,000,000& 25,000
osSts EZ=E L 0|EE & =2 SEZIZAM
20,000,000& 20,000
o AAOIE oA His+ZE HZSA
5,000,000& 5,000
o P (AE-3 &) OtAZ THEE S A
30,000,000& 30,000
02 ATHEIH U MYsR THIA
30,000,000& 30,000
0 2302 HAUI A ESEBA
25,000,000& 25,000
o ol 3&FH =2 L oty JEY Y XS
Al 35,000,000& 35,000
o B &2 HAXBA 25,000,000& 25,000
o0t MY==2 ZHEIAM 20,000,000& 20,000
o ME MYUZ =HE SZEHIA
15,000, 000& 15,000
o &MOIE AAZ MEEISA 30,000,000& 30,000
03B 542 U 52 ZTY¥BA
30,000,000& 30,000
o8I ZHFE MAUZE =AY EXSA
6,400,000 6,400
03 AIE 20 HI 3,600 1,800 1,800
OL7A2 FUHAALY 500,000,000& *0.72% 3,600
HEY2AHH(SLH) 117,888 112,914 4,974
Jl234l 117,888 112,914 4,974
JI23l 117,888 112,914 4,974
201 LB-2gH| 63,708 57,774 5,934
01 At 22l 38,612 38,732 A 120
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N = 0l & At & M A

2020 &b LBHSIAH HNEE ~ ItSH

H
r
=2
F
Il

2M: DHS
HE: DHMH A
Al

Sel =SXHT A (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
DM 791,246 506,290 284,956
DHY HH 679,229 391,107 288,122
SXHEy A 679,229 391,107 288,122
IASHHE RS 150,209 112,087 38,122
101 @14 dl 8,659 8,417 242
4 D12t ZE2XREES 8,659 8,417 242
O=X3sl& 22 68,7203 x 1«50 3,436
OZ A2l (9.8km) 22l 68,7203 x2H x38 5,223
201 L2l 37,140 23,060 14,080
01 At 22l 3,180 0 3,180
OXISt ==Z 2 Attl 300,000 *9H & 2,700
Oflga MEIIC ©I| AU S AE 448
40,0003 x1CH 1200 & 480
02 =24l 21,960 21,960 0
O=s22= & HA 10,960
o AsSXIME=E 90
— 28 EX 30,0003 = 1CH 30
—USHYN I 30,000 = 1CH 30
— SAMHI AR 30,0003 = 1CH 30
o XS XA 120
— 283 E X 30,0003 »2CH 60
— SR MU AXHE 60,000 = 1CH 60
o AHEER 2,200
— s, LM 700,000& »2CH 1,400
— SANAMUIATE 600,000 «1CH 600
—dIIA3H 100, 0002 = 1CH 100
—¢4azg 0EX 100,000 * 1CH 100
o MIIR=3 8,400
—SXg2 ¥ IH2E 400,000 x12& 4,800
—HoE=Z2E 300,000& 122 3,600
o =2X3gl2 MIHN HI++2
150,000 » 10 & 150
Ozl 1,000
o =Xz A=l 200,000& 53 1,000
OA& &l s Xl 1,000
o SXla& 1,000, 000& 14 1,000
O Xt 9,000
o A83s2Xt 4,000,000 = 1CH 4,000
o =2 XYM 3,000,000 = 1CH 3,000
o =X MUl AXE 2,000,000% = 1CH 2,000
03 &AL Z I 12,000 1,100 10,900




SN DHH
M DHE HE
Sl =XHY A CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
OHMI223] g At ool & &AL 12,000,000 12,000
203 YR =2l 2,000 2,000 0
03 AIMFAH S Z=AY| 2,000 2,000 0
OLEHAZFYRE AHFA 2,000,000 2,000
301 EEd = 102,410 78,610 23,800
05 S& -0 -2 101,610 77,810 23,800
OJURSE=, 79,560
oJdlz=¢ 300,000& x17Hx12& 61,200
o &0=3 300,000& 17 x23| 10,200
o &AL 20,000 x17H 23| x12& 8,160
O=X&<0 &3 =2 100,000& 178 ~12& 20,400
Ot asl 50,0003 33 1,650
09 &AL HIXI &3 800 800 0
O4&t= 0l 2Hel EHotEa 8,000& x100H 800
FURNXAE 29 26,120 26,120 0
201 Let249| 11,120 11,120 0
01 At 22l 11,120 11,120 0
OFLUXXEEH 29 600,000& »12& 7,200
OFLUXXEa A= 70,000% x28E »22] 3,920
301 LA F 15,000 15,000 0
09 SAAHIX RS 1,000 1,000 0
OFUXXMH 208 LA 24
1,000,000 1,000
12 JIEtE &= 14,000 14,000 0
OFUXXHEH ZAt=E 14,000,000 14,000
28 SFd 500,000 250,000 250,000
401 Al&HI & 28I 500,000 250,000 250,000
01 A& HI 496,400 248,200 248,200
OAnE FRHAAY 496,400
o &4 GXlEs E+2 HHISAM
50,000,000& 50,000
o &&8lts =5 s2E &3 A 50,000,000 50,000
o4aTE =2 EEHEIA 50,000, 000& 50,000
o EX0E €Y= =2 HUISM
50,000, 000& 50,000
o AENES FE=2Z OLAZHHISAM
50,000, 000& 50,000
o EJI0tE 2HE S22 SA
50,000, 000& 50,000
o BH0IE =2 HUISAM 50,000,000& 50,000
o XN&0S =2 EHISAM 50,000,000& 50,000
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SN Sae
=0 H
Sl =XHY A CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
o AESZX 4,000,000 = 1CH 4,000
o Ct=& SH Xtk 3,000,000& = 1CH 3,000
o SAX 2,000,000& «1CH 2,000
203 ¥R =&XH| 2,000 2,000 0]
03 A ZHF=XH R = XIH| 2,000 2,000 0
OLHHIAIR AIBF=ZX 2,000,000& 2,000
206 M = Hl 10,000 10,000 0
01 X Z Hl 10,000 10,000 0
OSAHH= HSIAITH (=eH) 10,000,000 10,000
301 et ™M= 76,660 59,860 16,800
0BCSHE -0 -EHEEESEMN= 72,260 55,460 16,800
Ool&+¢ 70,560
oJdlEas4 300,000 *12H «12& 43,200
o &3 300,000 x12H «23] 7,200
o 3oFA ¢ 20,000& 128 x23| x12& 5,760
0 BENER0 Es4+¢E 100,000+ 12 x12& 14,400
ObtE 2 =H| 50,000& *34H 1,700
09 HAIAHIXI &2 4,400 4,400 0
OEs2t XNHZEAH EFA&X B43
30,000& *120H 3,600
O&=S0ole 2H el &HIt2 & 8,000& x100H 800
A2 SHIMA 500,000 250,000 250,000
401 Al HI YL 2 0HHI 500,000 250,000 250,000
01 A& HI 496,400 248,200 248,200
OAARD FOHHAAS 496,400
o ZAHOIS ot OtAZE MMEZR ZA
31,400,000 31,400
o 202 &= 2 &b 30,000, 000& 30,000
o SN0t 2= s &bl 20,000,000& 20,000
o ZH B &= s EH| 25,000, 000& 25,000
o N AXA NER &Y 15,000,000& 15,000
o AlDIOIES ot OtAE THEZE ZA}
35,000,000 35,000
odJIOtE 2&4E =2 &b 30,000, 000& 30,000
o M&OIE s2 AtH & 30,000,000 30,000
o SHOtE 224 2 &bl
35,000,000 35,000
os& AAUDIS FE5 HMA &E
35,000,000 35,000
o 802 2= =2 & 15,000, 000& 15,000
o 8302 M2 s2 &l 35,000, 000& 35,000
o A==0I2 = =2 AU 30,000,000 30,000




Ji AT Ha

Aol
ISR ES
N o

- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %Eﬁ 2t
o 402 ot HI£==2 & 20,000,000 20,000
o 2402 ¥ 4+ HH| 30,000,000 30,000
o LWAHDOIES &= 242 HH| 30,000,000 30,000
o WA AY &= =2 AHdl 30,000,000& 30,000
o EEOlS #E =2 & 20,000,000 20,000
03 Al 20| 3,600 1,800 1,800
OALATFR FOIHHAAS 500,000, 000& *0.72% 3,600
FOIXXMEH 29 35,200 34,500 700
201 et 9| 12,200 11,500 700
01 At 2t2l ] 12,200 11,500 700
OF0XXHEH 24 8,000,000& 8,000
OF0I XX &E#&ELH 70,000& 30 23| 4,200
301 dEtE M= 23,000 23,000 0
09 #HAIAHI XIS 2 1,000 1,000 0
OFUNADE ¥ SAUNXME A8 S
1,000,000 1,000
12 JIEtE2 A= 22,000 22,000 0
OFoRXZZ O 2AAIS 22,000, 000& 22,000
== ASHAE 22| 3,100 3,100 0
201 et 3,100 3,100 0
02 24| 3,100 3,100 0
OAsd =&KXl 100, 000 & *31JH & 3,100
HEMR2IAH(2A4H) 115,823 110,363 5,460
24| 115,823 110,363 5,460
=44l 115,823 110,363 5,460
201 gBt24Ay| 61,643 56,223 5,420
01 AFR 2t 2| H| 36,887 37,007 A 120
Ogbt4=24| 15,767,000 15,767
o2gds4 6,900
o YRLE (LA 60,0003 1 *115L 6,900
O3l 14,220
o SEHA=ZX DAY 11,920,000& 11,920
ONBIR U NEUY 2RK0HA
2,300,000& 2,300
02 2=2=24%H| 24,756 19,216 5,540
02222 2 HMA 13,756
0 DIRGERE RER2 3,756
-2 s 380 x250= 12 1,140
-5 Il 2,180 x100=+12& 2,616




2N
X ZH -
L= B

el

=

i
2

o A S
10,000, 000& 10,000
o¢zt 3,000,000& 3,000
OAl& 8,000
o] 3,000,000& 3,000
o JIEtAIZ R Xt 2,000,000& 2,000
o =R
250,000& 1200 & 3,000
202 04l 44,020 44,020
01 = LH 4 Hi 44,020 44,020
OZEgdF =TI 41,020,000& 41,020
OHJlu=s s 2A=H 3,000,000& 3,000
203 &R = b 10,160 10,120
01 JIZ2Z YR8 6,600 6,600
osa 550,000& = 12& 6,600
02 ZAJER=A 560 520
OS2I T 40,0003 14 560
04 EA2IYRFLH| 3,000 3,000
ORNZ2EYRFA 250,000& 128 3,000




N = 0l & At & M A

e A HES ~ Y

20204

H
r
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SN SIEe

Hu: MY #E

ool =XHY A (sl &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
?EA 830,410 520,444 309,966
EH HHY 720,717 413,995 306,722
sy A3 720,717 413,995 306,722
ASAHEY RS 183,917 130,475 53,442
101 @121l 38,732 14,920 23,812
04 JI2ZtH 22 XNEE 38,732 14,920 23,812
O=Xgz « 3.1/ =HEY| 22,888
oJlE=a 8,590& x2H 6 A| 2F*x 125! 12,885
O == =R 8,590 x2H x6A| 2t x52F 5,361
o 9AXsm=8It
8,590% x2H x152 x 157 Al 2 /209 Al 2t *8 A 2F 1,549
o E&=2 8,590& x2H *6 Al 230 3,093
O+l S REA IAHE MYHI =H 10,310
o JlE2 8,590& *3H *8A| 2+ x40 8,247
o R28¢ 8,590 x3H *BA| 2t*x8F 1,650
o 9XteR=25t 8,5903 x3H x8Al 2tx2 ! 413
OMY®aX SH Il & &bl
130, 000& *5H x33] 1,950
OSEAMNGE JI2ES 4UHBEZ 3,584
o =0AHZE JIARLES 34,970, 000& *4.50% 1,574
oAPEZ VBB
34,970,000& *3.23% 1,130
o LOAXMIQUYLE JARHS
1,130,000& *6.55% 75
NEaYE I3 34,970,000& *1.50% 525
o MTHEE JI2EE2 34,970, 000& *0.80% 280
201 LEt2 Y| 29,515 24,185 5,330
01 At 22l Yl 1,080 0 1,080
OoIALZ ASIIHE =2 40,000& x12& 480
Oz2X 8 S =&2BAN =& 600
obHl&&= Xotx =ZZ A
150,000 x4l 2~ 600
02 332494l 28,435 24,185 4,250
03322 ¢ HAsU=2 15,785
o AksSXt BBAF =2 25,000& =3CH 75
o XS XA 50,0003 *3CH 150
o XAHEBEE 2,000
—St=2X, S 800, 000& =24 1,600
—S&X 400,000& = 10H 400
o MJIe=2 12,000
— =2X3g & 300,000& x12& 3,600
— 3 S APEO gt 300,000& x12& 3,600




SN A
H: AEs ¥y

ool =2XHE A CEEEED

SA - BB B () - MM - BES Ol &t o San HmEET
—JIEtMSAE S 400,000 x12& 4,800
o &Gt+ER=3 1,560
— =Xz L MIAE & 80,000&~12& 960
— Jst=s AMEO ey 50,000& +x12& 600
O=Xaa MItHFEH =2
150,000& * 12/ 150
O=Xsal2 Azt 200,000& 53 1,000
OA& &8s Xl 1,500
o =X3gl& ¥ MAHAA 1,500, 000& 14! 1,500
Oxg 2gHl 10,000
o AES=SXt 4,000,000 +1CH 4,000
o 58X 3,000,000% *1CH 3,000
o Ct= XXXt 3,000,000 = 1CH 3,000
203 YR =&l 2,000 2,000 0
03 AIHF=XH R =AH| 2,000 2,000 0
OgLd HHIR AMFT 2,000,000& 2,000
301 LEAS 113,670 89,370 24,300
05 S&-0%-EtE2ES2483 113,670 87,070 26,600
oolrd=¢ 111,720
oJlEgs¢ 300,000& *19H x12& 68,400
o &03 300,000& *19H x200% 11,400
o S| &FAG 20,0003 x198 #2353 x12& 9,120
0 SN0 BELY
100,000& x 19 « 15|« 12& 22,800
Oet&E g 50,000 39 1,950
A2 EHMA 500,000 250,000 250,000
401 Al HIZ 201 8] 500,000 250,000 250,000
01 A& HI 496,400 248,200 248,200
OLAR FLUEHAAY 496,400
o AOIOIES 2S5 =2 FHISA
25,000,000 25,000
o HX == =2 FHISA
30,000,000 30,000
o g4t otelE 2 FHIS A 25,000,000 25,000
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